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Note: ~You have four choices fo

-3y ] ;@Vﬁti’.}u&b&gzu»‘.u: u:fb.‘.’ié._-:&béd!r /:4Q§’Qi£-w£Z,JD #C,B, A @Llﬁ,:f /kédlr f =iad
Lors? N.,lzuf pIv L J L/ {/ _‘oﬁLf 4[ u:/'l)up:—ufl

t each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that

question number In your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

Q.1 Questiong /=iy A B Cc D
- =il 0
1 St G bx+c=0,b#0 | ax®> +bx+c=0,a#0 | ax* =bx,a#0 | ax’=0,a=0
Standard form of quadratic equation is:
4 -JI vl -1
2, o=l -1, - o, -&* -1, o, - &* -1, ~w, &* 1, - -
Cube roots of -1 are:
A4 —l— + —1-
B 1 1 1 a-p a+p
31 G~ - R
—-+-l- is equal to: @ a p af af
| a
! Juxv? /i
4. u=v* u=hkv* w =k w’ =1
it uccv? ,then:
_cr:ae)d,yl]ﬂa:b:x:yﬁ a b a x a+b x+y a-b x-y
5. —_—= ——= = =]
if a:b=x:y,then alterjando property is: Xy by b y x y
x—2
?wéﬂ&fjtf(ﬂf@fd(———l)(—:z—)
o A/, B Ax B A Bx+C | Ax+B C
6. x-2 —L ¥ —_—t + +
Partial fractions of ——— are of x-1 +2 x-1 x+2 x-1 x+2 x~1 x+2
(x-1)(x+2)
the form:
-q._b'n/.t/.AmBixA;Bfi p
7. B A AUB
If Ac B,then AN Bis equal to:
4-bpras AU (BNC)
8. A4u(BUC) An(BnC) (ANB)U(4NC) | (4uB)A(4uC)
AU(BNC)is equal to:
. e SRS G b sl K o
1A frequency polygon is a many sided: circle rectangle closed figure triangle
,U/g_éé‘jdlfﬁ’/{rfoij——q}’ys)'/' Aﬁ»gf:/ ﬁd“ ‘”‘f b
10. A deviation is defined as a difference of .
constant histogram sum mode
any value of the variable ffom a:
1 o 1 1 ﬁ
—~cosec4s = — == V3
1. 2.2 <2 V2 2
bl P
12. Akl 90° 180° 270° 360°
A complete circle is divided into:
FULGHJU&&JM»J’J&M;LGJI;VQ
' b e, o iy 9 e
13. LT
Two tangents drawn to a <1ircle froma haif equal double triple
point outside it are of in length.
A i8S 65T 60° i§ S I
14. | if an arc of a circle subtengis a central angle 20° 40° 60° 80°
of 60°,then the correspording chord of
the arc will make the central angle of: ]
-4.%';1,:!;»‘; Vo s x % V4
15. = & =
Angle inscribed in a semi-gcircle is: 2 3 3
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Mathematics (Science Group) $.S.C (Part-1I)-A-2021 (,r,/ Bad® T,
Time  : 2:10 Hours Group : I Paper (0 24 gl E2i0: 5
Marks : 60 Subjective 31 SwWi~ &2 ) 60: ~
.q_diu(9)/dvu?.¢.!.=yz£u;wd S tpnoge i o)
Note:- Section I is compulsory. t any three (3) questions from Section II but question No.9 is compulsory.
(Section—-1 Ji1.20)
2.  Write short answers tp any six parts. (6x2=12) ,éd Ny 4 L.lzl44.éf 22
i. Solve by factorization. 3y* =y(y-5) -éd' A~
ii. Solve the equation using quadratic formula. 2-x2=Tx -aéd’ c..d(fz’ ILI):‘;M»»I;-.bV ]
i. Define Reciprocal Equétion. oy enlu i
iv.  Find the discriminant of quadratic equation. 6x> —8x+3=0 ,ér)” W I ablGnn v
v. Evaluate it. (1 -30-30" )5 -é(}" ol v

(#* +7x~1)+(x+1) Bt Yl Lol SIPUPET

vi.  Use synthetic division {o find the quotient and the remainder, when: (x2 +7x— 1) + (x + l)

vii. If yocxand y=7whgn x=3find xwhen y=35 _ﬂy=35.,&éi(()”:¢26x;ﬂx=3-(ry=7ulﬂyocxfl il
vill.  Find a third proportional to: (x-y)', ¥~y Eep g i
x-y
ix. Find a mean proportional between: =y, ) —éé(:“’ Idss  ix
3.  Wirite short answers fo any six parts. 7 (6x2=12) _é.g Az L,l:m;&_éf 23
x=5
i.  Resolve into partial frattion. i3 _éd.’.‘? 3L B
iil. Whatis a proper fractign? ?4.8/: ¥ e i
li. Write down De Morgar's Laws. & SIS i
iv. If X={1,4,7,9}and ¥ ={2,4,59} thenfind X "Y XAYE#InX ={1,47,9 ¥ ={2,45% /1 v
v. IfX=gand¥=Z"thenfind X UY XOY&piv=2" Xx=¢/i

P NSNS LY x X TY ={d,e} s X ={ab,c} /i i

vii #X= {a,b,c} and Y= {d,e} then find the number of elements in ¥ x X

vil.  Define Class Mark. Eaflde i
vill.  Find arithmetic mean. 200, 225, 350, 375, 270, 320, 290 ,é(!w PJ’L}V il
ix. Define Range. Hy Aler  ix
4.  Write short answers +o any six parts. (6x2=12) -égj’.:auz} LA:!I{:..GI A
i. Define Ratio and give pne example. & :db'ufh:l.’éq /-7'(5:»/ Jd
li. Deflne Inverse Variatign, ,é{.z i(SU’:G’ & i
iil. Convert 135° into radians. -éd.é’d’-c[&z 7135° i
iv.  Convert —‘;—” radian tf degree. -éd.iuf-dfffc&,b:—;ﬁ v
v. Find @,when: 1=4.5m,r=2.5m »./.ér)” g v
vi.  Prove that: (1 —sin’ @ )(l +tan’ 9) =1 Lok i
vil. Define radian measure of an angle. -Zéu!/" Lﬂ-c&«&:dyl} i

vill. INAABC,a=17cm ,H=15cmandc =8cmfindm«B -zé(}"mAB Inc=8cmsb=15cm.a=1Tcm - ABC &* iii
ix. Divide an arc of any length into four equal parts. _cé(:"’ UnJr” 4ady v L‘(I&SQJU’( .ix

(Tumover &idw)
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5.(a)

()]

6.(a)

()

7.(a)

()]

8.(a)

()

Leclion —1i  ~n.o Sw‘_ .6")’
(4+4=8) -.;_dw(s)/dwu?-w/ﬂ[.drm-éf,.puzz,@mmfcdf

Attempt any three questions. Each question carries Eight marks but question No.9 Is compulsory (4+4=8)

x—a x+a 7

Solve the equation. sha wem T _éd' Fabls
U —;—,E J};Lgﬂé&al;bidﬂdjyﬁ ¥ -3x+6=0 bl fb.a f
o
; 2 a B
If &, B are the roots of the equation x? —3x + 6 = 0, form equation whose roots are '—6-,*—
o
= Gpg ﬁcﬁ_{(:""a&;(ff——}ﬁ+iﬂ é.ni./dlzx’lv.)g}:‘g;?!}.l’/
-q s+3p s-3¢
Using the theorem of componendo-dividendo find the value of g=p + ot Jif s = G
s+3p s-3gq P—q
x*-3x+1
Resolve into partial fraction. (x . 1)z (x _ 2) ,ég}:‘? v / (b2
Xn(YuZ) é’fp"’]nZ = {2,3,5, 7,1 1,13,17,19,23} s Y= {0,2,4,6,8,...,20} X = {1,3,5,7,...,19} A
f X ={135,7,..,19}, ¥ ={0,2, 4,6,8,2.,20} and Z ={2,3,5,7,11,13,17,19,23} then find X N(ruz)
Find the standard deviation ‘S’ 12,6,7,3,15,10,18,5 oS S
. _ sinf+cosf,  cos’ £ .
Verify the identity. e’ -1 0500 —cosd AN
Inscribe a circle in an equilateral triangle 4BC with each 1 5dUJd’ ﬁé.dl,ég’._ls;pibu‘; ¥ ABC &¥ Ll

side of length 5cm.

if two chords of a circle are congruent then they will be equidistant _Lu,vr.klwd;bz.f odun il e /i
from the centre.

OR k

Two tangents drawn to a circle from a point outside it are equal in length. _L1 sl 000 Vuind e ibe 035

(a).5

()]

(a).6

()

(a).7

()

(a).8

)

-9
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Note: -You have four cholces far each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that
question number in yourjanswer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

Q.1 Questjons /=iy A B C D
; 1 ”
._,g:,;alhfﬂ;d..«féd—/@/u ;.‘é x oS sl ...-;«l;l/éb’.:.a} Q’J(/J)G’ bl OW
1. | An equation which renjains unchanged when x is exponential reciprocal radical equation relation
replaced by—l- is caller a/an: equation equation
X
e ALK u’g b:«;é_ab’l
2 0 1 -1 3
Product of cube roots gf unity is:
1 1
G dlh— +—
a f 1 11 a-pf a+pf
3. - T A
—1- + i Is equal to: & & B ol o
a B
e ELER Y X »? e y* y?
4 - Xy — =
The third proportional df x*and 3° is: x x* x*
; - a c
=) n‘.'v'é)v:(jj}f _—— /’i
5 Cand b d a ¢ a ¢ ad a-b _c-d
i a c¢ = e=
if Z = _J , then componendo property is: @y c+d a-b c-d be b d
3
x +1
B R | ‘ 5
(x—l)(x+2) /.,.zb /v?[)j =S IJ“}/
6. 3
..._ill_ is a/an: proper fraction [“improper fraction identity constant term
(x-1)(x+2)
-4_8;1,»,7 Ju,‘g/gl? LS Yoy
7 1 2 3 4
The different number of ways to describe a set are:
ledtAnBinAcB/i ;
8. A B AUB
if AC B,then AN B ig equal to:
. ,z‘:_(;'ﬂ/ﬂk‘-fb’alyu‘i:lruj o e L‘)‘?JUJ’// S8y
* | The spread or scatterness of observations in a .
dta ERIe callad: average range central tendency dispersion
” s ___J/KUIMG(CPUI/:‘(LS:J ‘f’, d.;y o7 g
1A frequency polygon is g many sided: closed figure rectangle circle triangle
"] 20° = 360 630’ 1200’ 3600
patd femf . : .
12. J 90 180 270 360°
A complete circle is divided into:
g bkl He bkl ey 7 y 7,
13.
A circle has only one: secant chord diameter cenire
MO T e Ll S gt b S Sz il o
. The arcs opposite to incqngruent central angles congruent incongruent parallel perpendicular
of a circle are always:
-(r-lrﬂffliké-/’b 73 B w0 4%
15.
The circumference of a clrcle is called: chord segment boundary tangent
Mo e 110-221-A-41000  *
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< DAV F Bl e Loy el ebipnogdriond
Note:~ Section I is compulsory. A&cmpt any three (3) questions from Section IT but question No.9 is compulsory.
(Section—1 J31.22)

2. Wiite short answers tg any six parts. (6x2=12) _éJ aMﬁ/‘:‘ L;bm;:.éf .2
x+4 x-2
i.  Write the quadratic equ$tion in the standard form. P - % +4=0 _‘20 df-rﬁézk’f:abl/&»” i
li. Write the names of the methods for solving a quadratic equation. ,éf (b[—u;?. SLESS TebloBnn i
il. Solveit. Bx+18=x Ao
iv. Discuss the nature of thF roots of the given equation. 2x? -Tx+3=0 -Z‘E..vfz,(l}l&f uL.-.A:l/(f G v
v. Evaluatelit. &+ +1 _aé(}‘” ed

ﬁf}" o S bl ark HES FelrGns i

x-5x+3=0

vi. Without solving, find the sum and the product of the roots of quadratic equation X -5x+3=0
Vi If Vo RandV =5whenR=3.Find Rwhen? =625 _n¥ =625 42" ASRINR=3 V=54V < RS il
vili. Express as a ratio a:b pand as a fraction in its 75°, 225° & P00 YIS S sla:bedflitn Vil

simplest (lowest) form.
ix. Find fourth proportionalito:

3. Write short answers to any six parts.

I. Resolve into partial fraction.

ii. Define a rational fraction.

Hii. Define a subset and givL one example also.
iv. If X={14,7,9} and ¥|={2,4,5,9} thenfind X LY

v. IfX=¢gandY=Z"thenfind XY
vi. Find aand bif:

vil. Define Class Limits.

vili.  Find arithmetic mean.

ix. Define Geometric Mean,

4. Wirite short answers {0 any six parts.
I.  Define Proportion.

ii. Find x if 6:x::3:5

fil. Convert —150°into radtns.

13
iv. Convert —Eﬂ' to degree.

v. Find r ,when:
vi. Define Angle.
vil. Express 125.45°into D° M’ §" form.

P+d, 0 -0, p-pa+q’ o g i

(6x2=12) K jr FLangeds 3
x-11
(x—4)(x+3) A4 B
P[0 (R

bl B el i
P XOYIn X ={1,4,79) 5 Y ={2,459 /1
EeXAYIY=2" X=¢/i
St 2hSboia i
oy iluaiz i
,ér}" ol il
| o Ss I ix
s By f Mg FELatige S 4
Hy AEerkt i
-/f6:x::3:5f4é(}”x i
ELptd s 7-150° i
AT _:_2_,, iv

(3-2a,b-1)=(a-7,2b+5)

\l‘:,(‘ﬁ/&w,
B} ': 'e%z

12,14, 17, 20, 24, 29, 35z
EEE

(6x2=12)

vzé‘.!(}” roow
Ey Al i
LS AM . D F12545 i
mLA=60° i mAC = dcm .mAB = Scm % ¢# mBC :A4BC il

| =56cm, 0= 45"

Vil In A4BC find mBC ,if [mAB =5cm, mAC =4cmand mZA4 =60°

ix. Foran arc draw two perpendicular bisectors of the chords :’@ and QT

of this arc.

_?’/ obss wl éﬁul -I-’@ Ly }u{l I

(Tumover &idw)
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5.(a)

()]

6.(a)

()

7.(a)

()

8.(a)

()

@

Section-I rns Qi = §2-2 !
@+4=8) . $H@ A B ANL iy g sz Lctivif < OF

Attempt any three questions. Each question carries Eight marks but question No.9 is compulsory (4+4=8)

-3
ad +4(" )=4 LSt

Solve the equation. =3 x

U@, POl eI un L x —3x+6=0 cbls B0 /i

y

If e, B are the roots of the equation x? — 3x + 6 = 0, form equation whose roots are o, 4*

3 3

el 2 » )

Find x in the proportion. P +pa+qtix Pig ((p-9) ,é(}”.:/fé X ol
¥ +2x+1

Resolve into partial fraction. "‘—‘_( ¥ — 2) ( - '+"3)' ,é‘).’.‘? e / ($27

A-B=ANB Zebin B={1,4,7,10) 4 4={1,3,57,9} U ={1,2,3,4,..,10} /I

fU ={1,2,3,4,...,10}, A={l,3,5,7,9} and B={1,4,7,10} then prove that A~ B=ANB’

Find the standard deviation ‘S’ 12,6,7,3,15,10,18,5 -é(}” ‘S’ o Al
Verify the identity. (cot 8 + cosecf)(tan § - sin ) =sec § —cos & Y

Circumscribe a circle about an equilateral triangle 4ABC with -ﬂ(‘4(}(/6t‘f’ ﬂLu’l-.Cz_é.{::./’b  #i¢¥ ABC 2Ll

each side of length 4 cm.

AL arfl .unibu’i,ﬂ,.,ﬁ@ugi: sl

Any two angles in the same segment of a circle are equal.

OR L
AL 2SO T 9L LTSN T Ut SN 3755 S p 12 S S P

If the angles subtended by two chords of a circle at the centre are equal, the chords are equal.

(a).5

(b)

(a).6

(b)

(e).7

()

(a).8

()

-8
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